## Construction division. Advice for giving credit to contractors/suppliers.

Company Name: MRMLP Site: GMP  Name of Contractor Dilip Ranjan  Nature of work  Work done From Date O1.06.022 To Date O4.07.22  Si. Villa/Flat/block no. Oty. Rate Units Amount Contractors bill no  1. si hole for yi hat 42 250 Ale 12,650/- 2. si hole for yi hat 42 250 Ale 12,650/- 3. ui hole for si hat 14 250 Ale 12,650/- 4. ui hole for si hat 14 250 Ale 14 5250/- 5. si hole for si hat 14 250 Ale 14 1900/- 5. si hole for si hat 14 250 Ale 14 100/- 6. for hime 7. si hole for si hat 14 250 Ale 15250/- 8. ui hole for si hat 14 250 Ale 15250/- 9. si hole for si hat 14 250 Ale 15250/- 9. ii hole for si hat 15 Ale 16 Si hole for si hole for si hat 15 Ale 16 Si hole for si hat 15 Ale 16 Si hole for si hole for si hat 15 Ale 16 Si hole for	Sl. No. – site bills register	1.	13.2	8		- site bil	ls	5/4/	9)
Nature of Work  Work done  From Date  O O O O O O O O O O O O O O O O O O O		NAR		•		1001		GN	D
Work done From Date  O( O O O O O O O O O O O O O O O O O O	Name of Contractor			200	Pak	<del></del>			
Si. Villa/Flat/block no. Qty. Rate Units Amount Contractors bill no.  1. S' hole for H'bre 42 350 No. 12,600/- 2. s'hole for Upipe have 14 275 No. 5250/- 3. 4 hole for 3 pipe 21 275 No. 4900/- 5. 2"hole for 3 pipe kean 14 250 No. 4900/- 6. Lean line 7. s' hole for 3 pipe 21 250 No. 3375/- 8. 4 hole for 3 pipe 21 250 No. 3375/- 8. 4 hole for 3 pipe 21 250 No. 3375/- 9. 4 hole for 3 pipe 21 250 No. 3375/- 8. 4 hole for 3 pipe 21 250 No. 3375/- 8. 4 hole for 4 pipe 9 375 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 8. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 12 275 No. 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 21 250 No. 4 pipe 3375/- 9. 4 hole for 5 pipe 32 No. 4 pipe 32	Nature of work	C		all	1 (1)	2a			
Si. Villa/Flat/block no. Qty. Rate Units Amount bill no.  1. S'' hole for H''bir. 42 350 No. 12,600/-  2. S'hole for Upipe bown 14 275 No. 5250/-  3. 4''hole for Tippe 21 275 No. 4900/-  5. 2''hole for Tippe 21 250 No. 4900/-  6. Lean line  7. 5''hole for ti' pipe 9 375 No. 3375/-  8. 4''hole for Tippe 10 275 No. 3375/-  9. 10.  11. Total:  Bill required PYES PNO. GST bill required PYES PNO.  Measurement & Exequired Measurement & Denclosed PNO/W no.  PO/WO no.  Remarks: C-hole - 601, 602, 603 604, 605 pp. Color of the stimate sheet:  Chock - 607, 607, 605 pp. Color of the stimate sheet:  Approved by Project Manager Approved by Design Team Approved by M.D.  Date: 05 pp. Date:  Date:	Work done			7		7 (75-	Date	104.0	07.22
1.		no. Qt	y.	Rate		Units	Amou		Contractors
3. "I hole for "pipe book 14 345 Not 5250/-  4. "Note for spipe 21 245 Not 4900/-  5. "Inde for spipe book 14 350 Not 4900/-  6. Rain line  7. si hole for si pipe 21 250 Not 3375/-  8. "Inde for si pipe 12 245 Not 3375/-  9. "The for si pipe 12 245 Not 3375/-  10. "Total: HOLSD/-  Bill required DYES DNO. GST bill required DYES DNO.  Measurement & DRequired estimate sheet: Not enclosed  PO/WO no. PO/WO date:  Remarks: C-block - 601, 602, 603, 604, 605  606, 607 for foiler, while standard proved by Project Manager Approved by Design Team Approved by M.D.  Date: 05/97/1/ Date: Date:	1	11 Lizz	1,2	2 8	7)	A Jes	12.	600/=	
4. "   hole for 3 pipe   2   275   Axii   5775   5   1   hole for 3 pipe   2   250   Axii   49   50   5   250   5   5   5   5			14	1			5	2.50/-	
5. 2"hole for 3" pipe 21 250 And 4900/ 6. Rean line 7. 5"hole for 3" pipe 21 250 And 3375/ 8. ""hole for 3" pipe 9 375 And 3375/ 9. 10. 11. Total: HOLISO/ Bill required DYES DNO. GST bill required DYES DNO.  Measurement & DRequired estimate sheet: DNot required estimate sheet: Not required PO/WO no. PO/WO date:  Remarks: C-block - 601, 602, 603, 604, 605 606, 607 for foilets, Utility & balcony PVC lines.  Approved by Project Manager Approved by Design Team Approved by M.D. Date: 05 1971 Date: Date:	3. Whole for 3"	ipe	21				55	7-75/-	
6. Resultine 7. Stitule for the pipe 9 375 Not 3375 - 8. Whole for the pipe 10 275 Not 3375 - 9. 10. 11. Total: HOHSO - Bill required PYES DNO. GST bill required PYES DNO.  Measurement & DRaquired Stimate sheet: Not required Stimate sheet: Not required PO/WO no.  Remarks: C-block - 601, 602, 603, 604, 605 606, 607 for foilets, While the place of the policy of the proved by Project Manager Approved by Design Team Approved by M.D.  Date: 05 POW. Date: Date:	" Whole for 3 Die		14			,	40	100/-	
7. s'!hole for ti' pipe 9 375 Nou 3375    8. L'hole for s''pipe 12 275 Nou 3300    9. 10. 11. Totai: HOUSO    Bill required DYES DNO. GST bill required DYES DNO.  Measurement & DRequired estimate sheet: Not required estimate sheet: Not required PO/WO no. PO/WO date:  Remarks: C-block - 601, 602, 603, 604, 605  606, 607 for foilets, while standard proved by Project Manager Approved by Design Team Approved by M.D.  Date: 05 10 10 2 10 2 10 2 10 2 10 2 10 2 10	3. Blacky 5"	elpe	21	25	0	201	.52	50/-	
8. "Indefect of the pipe 12 275 Nos 3300/- 9. 10. 11. Total: HOLSO/- Bill required TYES TWO. GST bill required TYES TWO.  Measurement & Trequired Measurement & Trequired Tyes Two.  Measurement & Trequired Estimate sheet: Not required Estimate sheet: Not required Estimate sheet: Not required Estimate sheet: Not enclosed The power of the pipe	Rainline								
10.  11. Total:  Bill required   YES DNO.   GST bill required   YES DNO.  Measurement & DRequired   Measurement & DEnclosed   estimate sheet:   Not required   PO/WO date:  Remarks:   C-block - 60 , 602, 603, 604, 605  606, 607   for foilet, whility & balcony   PUC lines.  Approved by Project Manager   Approved by Design Team   Approved by M.D.  Date:   05   Office   Date:   Date:	5 hole for 4	pyo	9	37	5	Noi			
11. Total:  Bill required	9. Chalefor Elp	pe	12	27	5	N	33	30/-	
Bill required DYES DNO. GST bill required DYES DNO.  Measurement & DRequired Measurement & DRickosed estimate sheet: DNot enclosed  PO/WO no.  Remarks: C-block - 601, 602, 603, 604, 605  606, 607 for foilett, Utility & balcory  PUC lines.  Approved by Project Manager Approved by Design Team Approved by M.D.  Date: 05 PM Date:	10.								
Bill required	11.	Total:					401	150/-	,
estimate sheet:  PO/WO no.  Remarks:  C-block - 601, 602, 603, 604, 605  606, 607 for foilet, whility & balcomy  PVC lines.  Approved by Project Manager Approved by Design Team Approved by M.D.  Date:  Date:  Date:  Date:	Bill required	DYES	JANO.		GST	bill requi			PNO.
PO/WO no.  Remarks: C-block - 601, 602, 603, 604, 605  606, 607 for foiler, whility & balcony  Pue lines.  Approved by Project Manager Approved by Design Team Approved by M.D.  Date:  Date:  Date:  Date:		_							
Approved by Project Manager Approved by Design Team Approved by M.D.  Date:  OS Date:					PO/V	VO date:		1406 6	IICIOOCA
Approved by Project Manager Approved by Design Team Approved by M.D.  Date:  OS OTHER  Date:  Date:  Date:  Date:	Remarks:	-610	ock -	60	16	302	603	60	1 100
Approved by Project Manager Approved by Design Team Approved by M.D.  Date: 05000 Date: Date:	606,607 for foilets, vtility & ballons								
Approved by Project Manager Approved by Design Team Approved by M.D.  Date: Date: Date:									
Date: Date: Date:	put anes.								
Date: Date: Date:				41.4					
Date: Date: Date:	Approved by Project N	lanager	Appro	ved b	y Desi	gn Team	Are	wowed b	.1/7
	Date: A 05	othe					-		M.D.
Notes: 1. This advice must be sent within 7 days of such in	Sign:	/	Sign:				-		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for him charges, earth work, turning civil contractors. 3. Whenever not applicable – fill NA. 4. Estimate and measurement should are not required for turning jobs where guideline rates are clearly given.

					110000000000000000000000000000000000000	TOUR I THINK	
Project:		Gulmohar Residency			Sign:		
Work Description:	iption:	Core Cutting in Toilets, Utility & Balcony			q		
Contactor Name:	ame:	Dilip Ranjan					
Prepared By	7	Madhan					
Date:		29.06.2022					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	C-block	Core Cutting in Toilets, Utility & Balcony					
	C-						
	601,602,603,604,605,606,					12,600.00	
	607	5" core cutting for 4" pipe in slab	42.00	no's	300.00		
		5" core cutting for 4" pipe in beams	14.00	no's	375.00	5,250.00	
		4" core cutting for 3" pipe in slab	21.00	no's	275.00	5,775.00	
		4" core cutting for 3" pipe in beams	14.00	no's	350.00	4,900.00	
		3" core cutting for 2" pipe in slab	21.00	no's	250.00	5,250.00	
2	Extra holes work done	Rain water line purpose					
	at B-block	5" core cutting for 4" pipe in beams	9.00	no's	375.00	3375.00	
		4" core cutting for 3" pipe in beams	12.00	no's	275.00	3300.00	
					Total	1 40450.00	
							_

ESTIMATE SHEET Company Name:

MRMLLP

Approved by: RamPrasad

MEASUREN	MEASUREMENT SHEET							
Company Name:	ime:	MRMLLP				Approved b Ramprasad	Ramprasad	
Project:		Gulmohar Residency				Sign:		
Work Description:	ption:	Core Cutting in Toilets, Utility & Balcony						
Prepared By		Madhan						
Contractor Name:	Vame:	Dilip Ranjan						
Date:		29.06.2022						
			Α	В	С	D	E=AxBxCxD	Ŧ
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units
_	C-block	Core Cutting in Toilets, Utility & Balcony						
	C- 601,602,603,604,605,606,607	5" core cutting for 4" pipe in slab	7.00	1.00	1.00	6.00	42.00 no's	no's
		5" core cutting for 4" pipe in beams	7.00	1.00	1.00	2.00		no's
		4" core cutting for 3" pipe in slab	7.00	1.00	1.00	3.00		no's
		4" core cutting for 3" pipe in beams	7.00	1.00	1.00	2.00	14.00 no's	no's
		3" core cutting for 2" pipe in slab	7.00	1.00	1.00	3.00	21.00 no's	no's
2 5	7 Extra holes work done	Rain water line purpose						-
2	at B-block	5" core cutting for 4" pipe in beams	9.00		1.00	1.00		9.00 no's
	II D-DINER	4" core cutting for 3" pipe in beams	12.00	1.00	1.00	1.00		12.00 no's
								_

## **Bill for Labour Charges**

Dilip Ranjan, uppal, Hyderabad.

Date:04.07.2022

In favor of:

MRMall apur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core Cutting.

Towards:

Allowances For Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards core cutting work done in C Block 601,602,603,604,605,606,607 flats in C-block.  Total Amount = 40,450/- Work done from date 01.06.2022 to date 04.07.2022	Rs. 16,180,/-

Amount in words: Sixteen Thousand On Hundred and Eighty Rupees Only.

Sign: Diff

## **Allowances For Equipment**

Dilip Ranjan, uppal, Hyderabad.

Date:04.07.2022

In favor of:

MRMallapurLLP

**Project / Site:** 

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core Cutting.

**Towards:** 

Allowances For Equipment.

S No.	Description	Amount
1.	Brief description of work done: Towards core cutting work done in C Block 601,602,603,604,605,606,607 flats in C-block.  Total Amount = 40,450/- Work done from date 01.06.2022 to date 04.07.2022	Rs. 16,180,/-

Amount in words: Sixteen Thousand On Hundred and Eighty Rupees Only.

Sign: D. C.P.

## Allowances For Consumables

Dilip Ranjan, uppal, Hyderabad.

Date:04.07.2022

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core Cutting.

Towards:

Allowances For Consumables

S No.	Description	Amount
1.	Brief description of work done: Towards core cutting work done in C Block 601,602,603,604,605,606,607 flats in C-block.  Total Amount = 40,450/- Work done from date 01.06.2022 to date 04.07.2022	Rs. 8,090,/-

Amount in words: Eight Thousand and Ninety Rupees Only.

Sign: Dill